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* The images and the pictures in this lecture
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1. University Physics, Bauer and Westfall,

McGraw-Hill, 2011.
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and Walker, Wiley, 8t and 9t Ed.
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L.C circuits

Energy stored in E and B fields
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Total energy is conserved.

electromagnetic oscillation

N. B. potential and kinetic energies of a spring
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[.C oscillation
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LC oscillator & simple harmonic oscillator
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Analysis of LC oscillations
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RLC circuits & damped harmonic oscillator
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RLC forced oscillator and forced harmonic oscillator
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RLC circuits
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Circuit with C
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Circuit with L
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Series RLC circuit

impedance
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Phase constants and resonance
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